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Instructions for Candidates

1.  Write your Roll No. on the top immediatcﬁ(on’réqéipt :

of this question paper.

2.  Answer any five questions. All questions are divided

into sections, A and B. Attempt any five questions

out of 7 questions from each of the sections. Section

A has short answer questions and each carries 5

marks whereas Section B contains long answer

questions and each carries 10 marks.

3. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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Section—-A
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Define macroeconomics. Explain the evolution of

Classical-Keynesian debate.
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Explain why the saving curve slopes upward and
investment curve slopes downward in the saving-

investment diagram. Explain.
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What is the net export function? What are the shifting

factors of net export function?
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What is the money? What are the functions of money?
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Define the money multiplier. Explain how the creation
of credit by commercial banks can have a multiplier

effect on the money supply in the economy.

P.T.O.
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(i) Calculate the equilibrium level of income and

multiplier in this model.

(ii) Calculate also the budget surplus.
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What is the relationship between private saving and

national saving.
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When does the unintended inventory investment get

zero? Explain with the help of a graph.
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Describe the goods market equilibrium with the help

of desired national saving and desired investment.
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The size of the multiplier varies directly with the size
of the marginal propensity to consume. Do you agree

with this statement? Explain.

P.T.O.
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Explain the effect of an increase in marginal propensity

to import on equilibrium level of income.
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Define demand for money. Explain Keynes’s approach

to the demand for money.
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Section—-B
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Explain the major macroeconomic issues.
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What is the GDP? Explain the expenditure approach

to measuring GDP.
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Given the following data for a hypothetical economy:—

C=50+08Y,
I = ¥70 Crores
G = %200 Crores,

TR = 100 Crores
t= 0.2

P.T.O.



